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With the aid of resolvent kernel, the solution of the integral equation

ϕ(x) = 1 − 2x − ϕ(t)dt, is∫ x

0 e −x2 t2

(1 + 2x)e −xx2

− 2xe −xx2

e −xx2

+ 2xe −xx2

− 2xe −xx2

With the aid of resolvent kernel, the solution of the integral equation

ϕ(x) = x + ϕ(t)dt ise
x2

2 ∫ x

0 e−(x−t)

(x + 1) − 1e
x2

2

(x + 1)e
x2

2

e
x2

2

xe
x2

2
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(x + 1) − 1e
x2

2

The solution of the convolution type integral equation

ϕ(x) = + 2 cos(x − t)ϕ(t)dt, isex ∫ x

0

ex

(1 + x)ex

(1 + xex )2

(1 + )ex x2

(1 + xex )2

The solution of the convolution type integral equation

ϕ(x) = + ϕ(t)dt ise2x ∫ x

0 et−x

e2x

e2x

2

(3 − 1)e2x

(3 −1)e2x

2

(3 −1)e2x

2

The solution of the system of integral equations

(x) = + (t)dt,ϕ1 e2x ∫ x

0 ϕ2

(x) = 1 − (t)dt,ϕ2 ∫ x

0 e2(x−t)ϕ1

is

(x) = − 2, (x) = 2 − 3ϕ1 ex ϕ2 ex e2x

(x) = 3 − 2, (x) = 2 − 3ϕ1 ex ϕ2 ex e2x

(x) = 3 − 2, (x) = 3 − 2ϕ1 ex ϕ2 ex e2x

(x) = − 2, (x) = 3 − 2ϕ1 ex ϕ2 ex e2x
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(x) = 3 − 2, (x) = 3 − 2ϕ1 ex ϕ2 ex e2x

The solution of the system of integral equations

(x) = x + (t)dtϕ1 ∫ x

0 ϕ2

(x) = 1 − (t)dtϕ2 ∫ x

0 ϕ1

(x) = sin x + (x − t) (t)dt, isϕ3
1
2 ∫ x

0 ϕ1

(x) = 2 sin x, (x) = 2 cos x, (x) = xϕ1 ϕ2 ϕ3

(x) = 2 sin x, (x) = 2 cos x + 1, (x) =ϕ1 ϕ2 ϕ3 x2

(x) = 2 sin x, (x) = 2 cos x − 1, (x) =ϕ1 ϕ2 ϕ3 x2

(x) = 2 sin x, (x) = 2 cos x − 1, (x) = xϕ1 ϕ2 ϕ3

(x) = 2 sin x, (x) = 2 cos x − 1, (x) = xϕ1 ϕ2 ϕ3

The solution of the Cauchy type integral equation

= 2 < x < 4 isx2 ∫ x

2

y(t)dt

( −x2 t2)
1
2

y(x) =
4x( −2)( +4x2 x2 )

−1
2

π

y(x) =
4x( +2)( −4x2 x2 )

−1
2

π

y(x) =
4x( −2)( −4x2 x2 )

−1
2

π

y(x) =
4( −2)( −4x2 x2 )

−1
2

π

y(x) =
4x( −2)( −4x2 x2 )

−1
2

π

The solution of the Cauchy integral equation x = , is∫ 4

x

g(t)dt

(t − x)
1
3

g(x) = (4 − x (8 − 3x)−3
2π

)
2
3

g(x) = (4 − x (8 − 3x)−3 3√
2π

)
−2
3

g(x) = (4 − x (3x − 8)−3
2π

)
2
3
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g(x) = (4 − x (3x − 8)3√
2π

)
−2
3

g(x) = (4 − x (3x − 8)3√
2π

)
−2
3

The solution of Cauchy type integral equation

1 = , < x < π is∫ x

π

2

g(t)dt

(cos t − cos x)
1
2

π

2

g(t) = (sin t)(− cos t1
π

)
1
2

g(t) = (sin t)(− cos t1
π

)
−1
2

g(t) = (− cos t1
π

)
1
2

g(t) = (sin t)(− cos t−1
π

)
−1
2

g(t) = (sin t)(− cos t1
π

)
−1
2

The solution of the Cauchy type integral equation

x = 2 < x < 4 is∫ 4

x

u(t)dt

(t − x)
1
4

u(t) = (4 − t (t + 1)−16
5 π2√

)
1
4

u(t) = (4 − t (3 − t)−2 2√
π

)
−3
4

u(t) = (4 − t (5 − t)−2 2√
π

)
−3
4

u(t) = (4 − t (3 − t)−2 2√
π

)
3
4

u(t) = (4 − t (3 − t)−2 2√
π

)
−3
4
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